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The figures in the margin indicate full marks
Jor the questions

1. FotrR® ooe farre el o 1x8=8
Answer the following as directed :

(@) Rz 93 I 7 |
(o7 @ oa5 faw)
Marriage is a social institution.
( Write True or False )
(b) = IRAITR b1 FRT B o

Write one cause of rural out-migration.
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(2)

(c) IERARI @B FRG v |
Write one cause of child marriage.

(d) = P g I R
Write the main function of Jan Shikshan
Sansthan.

fe) 203y TR CIRPEE WP @AW IR
TR T T 2

According to 2011 Census, which State
has the highest literacy rate?

() BT A I R g Seen &

What is the main aim of National Rural
Health Mission?

(9) AMFNT SRP @A SBRE @R S wEE
T 2R ?
In which year was the Pradhan Mantri
Awas Yojana Scheme started?

(h) Frex 198 29 e B =0
What is meant by infant mortality rate?

2. oo© AR R @ o6 evme Gr B
(ef¥Thr 150 R fSeve) : 4x4=16

Write notes on any four of the following
(within 150 words each) :

(@) I N T S

Main elements of social structure
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(c)
@

(e).

(3)

A TS AT IRAIET e
Effect of rural out-migration in rural area

TR R AETERTerRR

Needs of iadult educatioh

28R T T, 2034

National Health Policy, 2017
Profrg «fRam

Effects of child marriage

oo {1 opaRa Ted ol (af¥eh1 500 R fSow)
Answer the following questions (within 500 words

each) :

3. (a)

(b
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mf%mﬁﬁmml'em@ﬂmﬁwﬁwww
HF TS AR ToR)E [0 F4 | 5+6=11

Write about caste system. Describe the
relationship between Indian economic
inequalities and caste system.

<1/ Or

SRS A W AR IS A AR
AN WF WASE CFae ASR  (COIAR]
Feocd M 90| A . 11

Explain social and economic effect of
changes in family system of India in
rural area.
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4. (a)
(b)
5. (@)
(b)
6. (a)
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(4)

TR A GPRUR FEAPRE q[@ s
FfTSH ToE S 3971 1 12

Analyze the trends and changes in the
composition of rural population in India.

531/ Or

SRSy TPR W FASHR WA Fw
PR I/ AR CORPTE RCERI | 6+6=12
Explain the impacts of population
growth in India. Give suggestions for
controlling population growth.

SIS AT TS R ArasTe WF e
Arefee S@ER a9 - 54+6=11

Explain the importance of education and
its present scenario in the rural areas of
India.

Yt/ Or

T A HWeTS IR AIANFI IR BIFNS
&2 T CFFZ AR 7 | 11

Discuss the measures taken by the
government for women empowerment in
rural areas of India.

AR T WY ST A I 42 T
MCHPIIR, SIICABA 3541 | 11

Discuss the steps taken by the
government for the improvement of rural
health status.
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(S)

w¥q / Or

(b) am ©Ros Trefee RRfse wwR Raa
TREAGA F91 | SRS A F1P RS S
AR PRI 2RI SR | 6+5=11
Discuss the current status of rural

health in India. Give some suggestions to
improve rural health status of India.

7. (@) SRS AN G RPN NE SN IREH
TH TOIE RGN IR WE E A
IRI AR g R SeReeT | 8+3=11

Analyze the drinking water and
sanitation problem in rural areas of
India and give some remedial measures.

94/ Or

(b) A AL IFR HF APRITR I SRS
BRI 22T 331 ABferg, A M| 6+5=11

Discuss the schemes taken by the
Government of India for rural housing
and rural electrification.
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